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Data Sufficiency

Sgros Do

Note: This question is followed by data in the form of two statements labeled as T

and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the dara make an appropriate choice from (1) to
(4) as per the following guidelines:
(a)  Mark choice (1) if the statement I alone is sufficient to answer the question.
(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.
(¢)  Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
(dy  Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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What is the cost of leveling the rectangular field?
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T The dimensions of the field are 200m x 150 m.

& Too Soden 200 . x 150 .

II. The cost of leveling 1 sq.mis Rs. 15,
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b) Mark choice (2) if the statement II alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.
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n and m are integers. Isn + m = 07

n,M QO PPToSen. N+ M = 0 esHedoo=?
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and I1. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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What 1s the cost price of a chair?

28 538‘) Do Doeh?

1. 2 chairs and 3 tables cost Rs. 10000.

2 by, 3 wyo Do . 10000.

II. 4 chairs and 6 tables cost Rs. 20000.

4 5)5()&‘.1), 6 weeo du dr. 20000.
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b) Mark choice (2) if the statement IT alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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What is the average weight of a student in the class?

e BEHNS'D Doegon B Y Jos?

1. The total weight of all the students in the class is 150 kgs.

&3 3E0DS°D wocsd dargdow ando 8 150 8. o

II. The number of boys in the class is equal to the number of girls.

e SRS erend 2oy, erde Lo DIV
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Data Sufficiency

Bgro DO

Note: This question 1s followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

Q0eTsd: (D (%) SD 2.8 1H9). D 180 L I & thhen fed Dok
IPIDTEN  ATOFOMT  QJ[HTON. QD)0 ATOTR)
SOTPNOD). DD )& (DAITIT°N (330 DT ), 9D )0CHH
DTETED 9HTO B @ A AT, & AT BLadd

80O SrOBB8 SrE@en GITBNOD (1) NOB (@) HE5 OO
0D B2 D0DE DODOA.

(@) D% DTTH0 DD )OH (DITIN0 I (€53 DTN
N B2 (1) T HO0B0B.

(b) 10¥)50 DPTRN0 VD YOLDIV DIIR0 I S°(¢hadd DT°ENeDONS
D 235720 (2) T HO0H0A.

(©) 1DF)Y50 SO0 AT )OOE (DSITEN I, I R HT°5R00D
©OMS D 283 SPE JOLYNO SENFS N 2 (3) M
HO0B0A.

(d) %) DSIPTH0 D YOHH (DSITEN L, I EO ST HT°00
58 €308 SOT0F0 @IOBNONS D Bar2d (@) M HOO0WOA.

A 5-term sequence is 1. a. b, ¢, 9. What 1s the value of c?

5- HdH0e dugaw 1, a. b, . 9. ¢ Dewd Dos?

I. The second term is 3.

Coctd Do 3.

II. The third term is twice the first.
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Data Sufficiency
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Note:

(a)
(b)
(c)

(d)

This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement IT alone is sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.
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What is the average speed of the train?

B e06 D80 Srfo Joeh?

I.  The length of the train 1s 100 m.

&5 Do 208 Tcay 100 .

II. The train travels 246 km in 3 hour time.

€3 B 2208 246 8.2 Broed)y 3 obaes” DokER008.
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Data Sufficiency
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Note:

(a)
(b)
(c)

(d)

This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement II alone 1s sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.
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What is the rate of simple interest?

.auasuaé S5E Bew Does?

I.  Principal is Rs. 560.

e0Rew dom. 560.

II. Amount Rs. 650.

2oodo 6. 650.
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Data Sufficiency
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Note:

(a)
(b)
(c)

(d)

This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement II alone 1s sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.
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Are two triangles AABC and ADEF similar?

e dzoren AABC. ADEF en ddrarer?

I. The perimeters of the two triangles are equal.

& Toch Bz0erw g Fouden daoedo.

II. AABC and ADEF are equilateral.

AABC. ADEF eu daveriosen.
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and I1. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following gidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b) Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.
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How many girls are there in the class?

23 BEABS° Jodd od erdsen e a?

L

For every 4 girls who learn driving a car. one learns swimming also.
S0 DEDE0 SWER) DA 4 LA erdsves’ 2sd G Sexco

30:55 T 6.

II. 24 girls in the class learn driving a car and 16 learn swimming.
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and IT. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

(d)  Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.
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What is the amount invested by A in partmership firm in which B and C are
partners?

B.Cen e,rﬁ.ﬂﬂs;ﬁ»mr‘r" He 208 e,*j"r‘i.a“‘s.‘.‘»?s rooges" A Déwed dos?

1. The investment of A is Ks. 50000 more than that of B.

B 065 A Dewed 6. 50000 dky.

II. The investment of C is Rs. 10000 less than that of A.

A $08 C Hewead 6. 10000 L EVES
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Data Sufficiency
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Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(c) Marik choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.
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In how many days A and B together can finish the work?

A.B e $82 2y Ead’ & 0D o Sabriody?

A alone can finish the work in 12 days.

A 288 & DI 12 Bagd® 18 Sosudo.

. B needs 12 days more than A to finish the work alone.

B 2.8)¢ &5 D 10 Sozrdd A SofS 12 Baren 289 S 8.
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Data Sufficiency
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Note:

(a)
(b)
(c)

(d)

This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement II alone is sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.

BIPESS: 1963 99 S 2.8 199). T (8§08 L I e Hchen Ke> Dok

AV ATOFOIMT Q[T ON. AN ATOTFR)
SHTNOD., AV (DTN D9 50 AIPFTRR) 2D )00
DOETEN @HTON° BE* @ D JT00wd. & T B%0

80O SrGE8 SFEen GHTPNOD (1) DOB (@) HB5 OO
@O B2 DONE DONOA.

(a) |DFYH JXITTH0 VD YOO |DHID0 I S5 DT°5ReDONS
D 272D (1) T HOooB.

(b) 10F)50 DSTPGH0 BT )ODED (DILINO I SP(€533) DT®ERHONES
) 272D (2) ™ HOoB0A.

(€) 0¥V QPFH0 W IONEY (DSITeN I, II EO HT°§000
©ONS & 2883 Hre HOUN0 TESFS N Bayred (3)
N00H0B.

(d) DFLE0 DT D HONEL (DTN L I EOR) F°E° DTS00
578 @955 OT0F0 @95OBNONS b 23720 (4) ™ HQOBOB.

What percent of 20 is x?

20 &5° X Dod TH0?

150% of x is less than 15.

15 So85 x o5° 150% LEUES

X 1s 10% of 45.

X £ HArH0 45 &° 10%.



Options :
1. %1
2. %2
3% 3
4 % 4

Question Number : 13 Question Id : 9126063285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

BP0 DO

Note: This question 1s followed by data in the form of two statements labeled as I

(a)
(b)
(c)

(d)

and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to

(4) as per the following guidelines:

Mark choice (1) if the statement I alone 1s sufficient to answer the question.
Mark choice (2) if the statement II alone is sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required.

Qoeesed: (98 (9965 2.8 (99). " 180 L IT @ Hen ffer Dok

IV ATOFOMT  QILDTON. W)Y AT0FW)
SHANOD), YDA (DIDT W (DF) 50 DT AD)ONEL
DTET N 9HB0F® B® @ K ATO0TO. & DT BLa%d

80O Sr0AB8 SrEen GOOITNOD (1) OB (4) SBB OO
0N B2 DO0DE DONOR.

(a) ¥ DTTH0 AT IOR [DDTIS0 I S5 DT°5RDONES
A 2872 (1) T HOO0B0A.

(b) 19%)50 DSPF°H0 JD YOCDIED 1DSII0 IT S5 53) DTERDON S
o B2 (2) T HOOB0A.

(©) 10%)50 JSTPEH0 WD )OO (Dadtdmren I, I O HT°§eD0ON
©ODS O 2883 Erm@ HOUN0 TEFB D 3y (3)
NO0BOAK.

(d) 10%)50 NPT H0 QD YOOI (DeIedrren L I EOR $E° TR0
58 @A) OT0F0 9IIGN0NS o 272 (4) T HOO0B0A.

In the adjacent figure is AB is parallel to CD? }/
X

2¢), D0’ AB. (D e diTosTrer?

m

/F D

I. M is the midpoint of EF.

EF &° 2u¢) Doy M.

II. 2x=2y.



Options :
1. %1
2. %2
3% 3
4 % 4

Question Number : 14 Question Id : 9126063286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

GTPo? VUSRS

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

QeSS (D8 199 S 2.8 1H9). T 1808 1 I & HHen Ko Do
RIDTED SO0 QI JDFON. WD)  OBOTR)
SHBTFNOD. DD )N (DIDTEN (299) B SATEFTR) QD )OCHHD
DOETEN OHSOT BE® @) DA AFT00wd. & AT

808 SrFSE)8 Ar@en &XTENoD (1) HoB (4) SG5 HO
0N BT 2D DODE DADHOA.

(a) D750 QaIrPTTES0 W JOCHE (IS0 [ ST ehad DT RNV S
N 23572 (1) ™ HB0B0A.

(b) 1DF50 DSTFRH0 AT OCHEY (DITIN0 I ST DT LRHONS
D 23672 (2) I H00S0A.

(©) DFYH QAT BT YOOH DITWIT*EN I, I FOR DTERSD0N
@ONS o 2863 Hrer H0EN0 TESFS D Barad 3) M
8o k.

(d) (D% 50 DTN AT )OO (DITITEN LI EOR T HTEN0
5% @058 BT0F0 @SOBDOVS b Baad (4) ™ HBoB0d.

In the adjacent figure PQ and PR are tangents to a i C
circle with center C. what 1s the radius of the N
circle?

& DY) DHt0es” C Sogorr do &Hy5-D8 PQ. PR ews

0, Baw. e el 3"55"2“ Doet?

PQ=10cm.

PO =100

. PB=18 cm.

PB =18 2o.fn



Options :
1. %1
2. % 2
3.9 3
4 % 4

Question Number : 15 Question Id : 9126063287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

O5ro% Do

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Maik choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

Hredd: (98 19SS 2,8 (9%). T 1§0& 1L I @ Hew e Do
IPSBTD  STPOFOMT VI ZDTON. WD) ATOTW)
GHTNOD), D) (DTN (¥ 50 DT [T, )0C0E
DTFTEN HT O BT @ WD AT00TE. & AT

80O IrG88 Sr@en GHOTTNOD (1) OB (4) HB% HB
2900 23572060 D0DE BOHOEB.

(a) 1D¥) ) NIPTFS0 AT YOOI (DITID0 I 557D DT ERHONS
M B3ayaw (1) Hdoiodk.

(b) 10%)50 QAP0 ATI0O (DITIN0 I1 5533 DTN S
M Baraw (2) T HOo0A.

(€) 105 DATPTTO0 ADIOLHEY 1DSITN I, IT O DT°5eD0N
0N D 28,83 rE HoUN0 TEFB N T (3) ™
00504,

(d) 10%),50 QITrEH0 BT J0OI 1DIITEN L ILEOR $T°E° D000
T8 90533) BB 0F0 @IIBNONSB 2 B2 (4) T HOoI0A.

What is 2C in the figure?

D (&

A B

& H&oes 20 does?

I 2A=50"
II. CD is parallel to AB.

AB $ CD Reaurogddo.



Options :
1. %1
2. % 2
3% 3
4 ¥ 4

Question Number : 16 Question Id : 9126063288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

Bgro% DU

Note: This question 1s followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d)  Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1is required.

DS S: 1963 199 S0 2.8 1H9). T 180S L I 0 HHhex fe> Do
PDIAVTED ABOFOMT  QWJJDTON. AV AB0FR)
SIATPNOD. DA (DSDIT N (3 50 DAFTTR) 2D )0E
DOT D HTAN® BE® @ W ATO0TO. & JT 50

80O SrQBGE Qr@ren G&HAITN0D (1) OB (4) HBE OO
0NN BTN DO0DE DONOA.

(@) (DFY0 DIPTH0 AT IONH (DIVIN0 I AT DT°ERDONS
3 a2 (1) TP HOO00A.

(b) (0% 50 DSPGTH0 AT YOV (HDIID0 IT 55 DT5RaDONS
N B2 (2) T HOO00A.

(©) (DFYE0 DAPTH0 QT IOCHEY (Dededmren I II EO HT5RD0N
@oHS D 8383 SrEr HOUN0 TEFS D 2w (3) M
MNB0BO&.

(d) 1DF)80 DIPTH0 BT YOOI (DIedmre L I EO ST HT5R0
58 @) BT 0F0 @IIBDONS o) 272D (4) M HOO0OA.

What 1s the slope of the line [°?

83 DEPB ‘17 Tren Dogh?

1. “I" passes through (0. 0).

(0. 0) &ogoe °1” Deod00b.

II.  “I’ is perpendicular to y-axis.

y- 093203 7 wowo.



Options :
1. %1
2. %2
3% 3
4 % 4

Question Number : 17 Question Id : 9126063289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

G0 DO

Note:

(a)
(b)
(c)

(d)

This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:
Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement IT alone is sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data 1s required.

QIeTSS: (983 (HF)SD 2,8 199). O 180 L I @ Hhen fe> Do

OIWVTN ABOFOMT  QIJDTOAN. W) ST0FR)
SHTNOD). BN ) (DTN (H¥) B0 IFPFTRQ), 2D )OOEL
DOTEN @HTAT® B @ S AT00TS. & T Bdd

80O SrGEG)E Sr@ren GOAIPN0D) (1) DOB (4) SB% HO
0NN BTN DONE DONOA.

(a) |D¥)B0 DIFPTO0 QAT YOLDEY 1DITIS0 I ST(€53) DTERDONES
o 25720 (1) e HOO0WOA.

(b) (%) 50 DATGEH0 WD )OCDEY (DILIN0 I 363 DTN 0N
) 23572 (2) e HBOB0A.

(€) (DFYH DIFGTH0 WD )YOCNH (De3tIoeN L II O DT°ERD0M
0N D 88 Erm Ho%EN0 TEFS D Raran (3)
00D 0EG.

(d) 1DF)50 OITTH0 QA JOCDH (DTN I I EOR 0T HOEN0
58 @355 BT 0F0 @5IGND0NS oD B2 (4) M HA0BOAB.

‘What is the value of the integer n?

rgrogo 1 DD Joch?



Options :
1.1

o %2
3. %3
4. % 4

Question Number : 18 Question Id : 9126063290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

BGoP DTS

Note: This question is followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the question.

(c) Mark choice (3) if both the statements 1 and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

Qeded: (08 (HF) S 2.8 (H9). T 1§08 1 IT @ Hdhen fe Boch
BIDTTeD  AB0FOT AIJDTON. V)N OTO0FWR)
SATPNOD). RO (DITITEN 9] 50 DITTEER) VW )OLHE
DOLT N @) B® @ WA AT00wd. & AT Teadd

180A SPOBGH)E SrlEEen csd0PNoD (1) ADOB (4) 6% OO
0D BTV DONE TOHOB.

(a) (0¥ DIPEFH0 BT )OCNH (DHIR0 T (63 DTERHONS
N BaeD (1) T HB0B0A.

(1) (%) 30 DT R JOCHB (DHIN0 IT 307530 DTERNONS
o) B2 (2) I HO0WOA.

(€) 1OFYH DIAPTTH0 BT YOOI (DILIDEEN L IT EO D00
@0 D 2,863 ErE JoUN0 TEFS ) 22D (3) ™
HBo0B0A.

(d) 10F),30 DIFTH0 BB )OCOZ (DSST N L I EO $r@ HOER0
58 @909 ST 0FO IDBHONS a0 B°20 (4) M HOOWOA.

Is the positive integer n divisible by 72072

720 & & SJrgreso 1 wrhiod exceom?

I.  nisdivisible by 24 and 30.

24 So8cs0 30 ©8 1 eTfod Bciiod.

II. n=a(a+l)(a+2)(a+3)a—4)(a+3) for some positive integer a.

W8 3D PrgresSoa D= ala+1)(a+2)(a+3)(at4)(a+5).



Options :
1. %1
2. %2
3% 3
4 % 4

Question Number : 19 Question Id : 9126063291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

Sgros HoHS

Note: This question 1s followed by data in the form of two statements labeled as I
and II. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement II alone is sufficient to answer the question.

(c)  Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

QrSS: (D6 (54 S 2.8 (H9). T 1804 1. I e HXHex Koy Dok
IVIWPVTLD AT0FOIMT  QYIDTON. Q)N OBOFTR),
GHTFNOD), BN (DIDTON (DT SIPTFTR) D )JOHE
DOTeN OITO B @ D ATO00TE). & DTGty

80 Sr8¢588 e SHABTAOD (1) oG (@) 8% OO
G0N V2D DODE DAHOA.

(a) (9950 DATTTH0 FT HODH [DIIN0 I 3|53 DT5a3aNONES
D 23572y (1) Hdosod.

(b) D% H0 DASTEFI0 WS JOCDEY (NS0 I SP(€had) DT"ENDANS
2 22 (2) I (HO0W0A.

(€) (DFYH SATETFI0 BTHONHY DSBT e L 1T O HT°5a000
oS @ 2.8 Erm HOUN0 TESFS N By () M
HO0WOA.

(d) (DFYE0 DSTEPI0 AT HONE (DIIT N L I EO D §r T HOI0
8 @¢9d8) OB0F0 @SNG0S o 22 (4) M HYoH0AB.

What is the percentage of defective items produced m factory?

€ Sov)Trdoes’ SoSEd BDB SRS’ GDo D) SO Tdo Jod?

[.  The total number of defective items is 250.

B D20R) IRWYY B0 Vo 250.

II. The ratio of defective items to non defective ifems is 250 : 6250.

S°02002) PV Doy, D0 T DD Doy iy 250 : 6250.



Options :
1. %1
2. %2
3% 3
4 % 4

Question Number : 20 Question Id : 9126063292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Data Sufficiency

Sgros DTS

Note: This question is followed by data in the form of two statements labeled as I
and I1. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement IT alone is sufficient to answer the question.

(¢c) Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data is required.

Qreded: (9 15%) S 2,8 (H9). o (80 L I @ Hihen He> Bockh
DAV TEN ABPOFOMT  QILDTON. WAD)D STOTR)
GABFNOD. AN ) (DIITN (HF) B QST RE,)0DE
DTN ©9HT'OF® B @ A ATV, & JPT'BId

80O 868 dr@ren &HTINoD (1) OB @) HB8 O
0N BT 2N DO0DE DOHOA.

(a) (DF)YH0 DIPTH0 BT YOHH (NS0 I P[5 DT FRD0NS
3D 2382 (1) MHO0B0B.

(b) 1%) 50 DITEFTH0 [T JOCDE (DIIDO I S5°|€d o DTSR 0NS
A 235720 (2) M HO0I0AB.

(©) 1D%)B0 DAFENE0 DTS I0CHE (DS I, T O HOEa)D0
@ONS & 58 ErE HTUN0 TENFS N 2w () m™
H00N0A.

(d) (%) 50 DITPTH0 QAW JODIH (DIITEN L I EO ST D50
58 @908 GF0F0 @SHIGNANS b Baraw (4) M HOo0B.

Is the integer n>7 composite?

rgeso n>7 Roctrgar?

I.  n leaves remainders 7 when divided by 84.

n &0 84 & oDy Fo 7.

II. nisrelatively prime to 84.

84 £ n FHIDHTHo.



Options :
1.9 1

= B2
3 ® 3
4 % 4

Question Number : 21 Question Id : 9126063293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Sequence and Series

RBOTY TGS — AT, Feew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Jrtded: (DA (DA SEr QIS dopsen M @foren Ml &8
BHAODS AONSITY), aFSENTION. 1NN (NS P
QDN T DDITO OB D0 ANS B2 DAY TV
D5 AODSTPVE 23010 iiSvom oo,

Bis 121 2 ;961

(1) 27 (2) 29 (3) 31 (4) 28
Options :
1.%1
o %2
3 % 3
4 v 4

Question Number : 22 Question Id : 9126063294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series
AR GO — evRgaT. Srew

Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

ArSe: (DB (DS AD)S dopien M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 9D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

LxM : 12x13 :: w 21x23

(1) TxU (2) UxW (3) VxX (4) ZxB
Options :
1.%1
o V2
3 %3
4 % 4

Question Number : 23 Question Id : 9126063295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DS (DS AD)S dopgen M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 79D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

10 : B9 2 9

(1) 88 (2) 80 (3) 82 (4) 91

Options :
1. % 1
2. 2
3 % 3
4 % 4

Question Number : 24 Question Id : 9126063296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

RBOIY GO — evRgaTe. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

ArSe: (DB (DS AD)S dopien M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 9D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

20 : 8000 :: : 27000

(1) 900 (2) V27 x100 (3) 300 (4) 30

Options :
1. %1
o %o
. %3
4 v 4

Question Number : 25 Question Id : 9126063297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DS (DS AD)S dopgen M) eforen M &8
B0 AANATY) FENT oW, (DS (DS 7O
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

BEYOND : YBVLKA :: WOULD :

(1) TLRIA (2) TLIRA (3) ZRXOG (4) ZXORG

Options :
1.v1

2 ® 2
3 ® 3
4 % 4

Question Number : 26 Question Id : 9126063298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

RBOIY GO — evRgaTe. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DB (DS AD)S dopgen M) eforen Ml &8
BHAOS ONITFY), aFESDTYON. DB (DS 9D
QDN T DDITO OB DO ANS BN DAY TR
D5 NONITVE 230150 0T P00,

(1) 36 (2) 49 (3) 64 (4) 81

Options :
1. % 1
2.2
. %3
4 % 4

Question Number : 27 Question Id : 9126063299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

RBOIY GO — evRgaTe. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DB (DS AD)S dopgen M) eforen Ml &8
BHAODS AANITY) FENTIoW. (DS (DS 9D
QDN T DDITO OB DO ANS BN DAY TR
D5 NONITVE 230150 0T P00,

: PEOI :: MEAT : QIEX

(1) MEAL (2) LEAK (3) LAKE (4) GOAT

Options :
1. % 1
o %2
2. ¥ 3
4 % 4

Question Number : 28 Question Id : 9126063300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qre: (DS (DS AD)S dopgen M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 79D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

August @ 64 : 144

estic - 64 1 144

ey A

(1) July (2) October (3) November (4) December

2o oSed dDSoesd G:oeb

Options :
1. % 1
o %2
. %3
4 v 4

Question Number : 29 Question Id : 9126063301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

ArSe: (DB (DS AD)S dopien M) eforen M &8
BHAODS AANITY) FENTIoW. (DS (DS 79D
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB AANITVE 230150 EHH0T IO,

1% 2 3150 2907

(1) 5400 (2) 6400 (3) 6800 (4) 7600

Options :
1. % 1
o %D
. %3
4 v 4

Question Number : 30 Question Id : 9126063302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Sequence and Series

AR GO — evRgaT. Srew
Note: The following question has a sequence of numbers or letters that follow a
definite pattern 1s given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Are: (DB (D SEr 3D)S dogen M) eforen M &8
B0 AANATY) FENT oW, (DS (DS 7O
QDN DD DD)HITO OB DO ANS B2 DAY TR
DB NONITVE 230150 0T PO,

1L = 59 = 1011

(1) 332 (2) 323 (3) 233 (4) 223

Options :
1. %1
o %D
. %3
4 v 4

Question Number : 31 Question Id : 9126063303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : From the question. pick the odd thing out :

HONE : D) OS HOFOIA HOOTHAW :

(1) (Jagjivanramiji: 5/5) (aﬁ%b.ﬁ e & 5/5)
(2) (Ambedkarji: 14/4) (@oa‘ic:%é 2. 14/4)
(3) (Nehurji: 14/11) (RI0 &; 14/11)

(4) (Gandiji: 2/10) (rod &; 2/10)

Options :
1.v¥1

= B2
3 ® 3
4 % 4

Question Number : 32 Question Id : 9126063304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : From the question. pick the odd thing out :

HONE : D) OS HOFOIA HOOTHAW :

i & 0O
(1) A=10 3 5
0 6 10
3 0 0
2)B=|0 1 3
0 2 6
4 0 0
B3)C=1l0 1 3
0 2 5
0 0
4) D=0 1 2
0 2 4
Options :
1. % 1
z ® 2
3. v 3
4 % 4

Question Number : 33 Question Id : 9126063305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : From the question. pick the odd thing out :

HONE : D) OS HOFOIA HOOTDAW :

(1) f2R—R; fix)=x+1
2) f:R—R: f(x)=x
(3) £:R—R: f(x)=x"
4) I:R—R:f{x)=2x+3

Options :
1.%1
2.2
. %3
4 % 4

Question Number : 34 Question Id : 9126063306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

HNE : 1D OS HOFOIO HOOTDAW :

(1) Mysore (2) Chennai (3) Mumbai (4) Bhubaneshwar

SORTE 32 20008 EACRISE NG

Options :
1.v1

= B2
3 ® 3
4 % 4

Question Number : 35 Question Id : 9126063307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : From the question. pick the odd thing out :

HONE : D) OS HOFOIA HOOTDAW :

(1) 78 (2) 52 (3) 104 (4) 116

Options :
1.%1
o %2
. %3
4 v 4

Question Number : 36 Question Id : 9126063308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S° 28 DDISDD JONATY) are3 DT on. es
DOPSTFY) B0 HOOHH  DITPTIOS PO
J*OOS0R.

(10,12, 11), (14.16.13), (18,20; 19, 22,244,233,

(1) (26.27.28) (2) (26.28,27)

(3) (26,29, 28) (4) (26.28.29)
Options :
1.%1
o V2
3 %3
4 % 4

Question Number : 37 Question Id : 9126063309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPATFY) B0 HOOHH  IIFPTOOS PO
000G,

4.3, 20, 43, 840, 123,

(1) 16.5 (2) 17.0 (3) 18.0 (4) 19.5

Options :
1. % 1
o ® 2
3. ¥ 3
4 % 4

Question Number : 38 Question Id : 9126063310 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HoORE: (D3 1591 2.8 PDIBDS JONATY) I e3DT 0. €3
DOPATY) B0  HOOHWH  DIPTTOS FFPOD

000G,
1 1 £ 5 F
2 e w2 e
W< @ = G () 3

Options :
1. % 1
o ® 2
3 % 3
4 v 4



Question Number : 39 Question Id : 9126063311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HRE: (D 1H9)S 2.8 PDIBDS JONATY) eI DT 0. €3
DOPATY) B0  HOOHH  DIPTTOS FFPOD
oJ 000,

4, 11, 30, 67,

(1) 98 (2) 128 (3) 134 (4) 125

Options :
1. % 1
2.2
3 % 3
4 % 4

Question Number : 40 Question Id : 9126063312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HoORE: (D3 1591 2.8 PDIBDS JONATY) I e3DT 0. €3
DOPATY) B0  HOOHWH  DIPTTOS FFPOD
oJ 000G,

3 2 g T
21 2

(1) 14 (2) 13 (3) 11 (4) 12

Options :
1. % 1
o %2
3 ® 3
4 ¥ 4

Question Number : 41 Question Id : 9126063313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPATFY) B0 HOOHH  IIFPTOOS PO
0004,

43, 39, 34, 28,

(1) 21 (2) 23 (3) 22 (4) 20

Options :
1.9 1

= B2
3 ® 3
4 % 4

Question Number : 42 Question Id : 9126063314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HDE : (D3 1H9)S 2.8 PDIBDS JONATY) eI DT) 0. €3
DOPATY) B0 HOOHH  DITPTHOS FFPOD
A oleInTolx}

196. 16, 144. 36. 100, 64, 64.

(1) 8 (2) 16 (3) 32 (4) 100

Options :
1. % 1
o %2
3 ® 3
4 v 4

Question Number : 43 Question Id : 9126063315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPATFY) B0 HOOHH  IIFPTOOS PO

0004,
YACE. Q5UW, . ACEG
(1) IKMO (2) IKOM (3) IMKO (4) IKOM

Options :
1.v1

= B2
3 ® 3
4 % 4

Question Number : 44 Question Id : 9126063316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPSTFY) B0 HOOHH  DITPTIOS PO
J*OOS0R.

1, 4, 27, 16, 125, 36,

(1) 264 (2) 289 (3) 343 (4) 364

Options :
1.%1
o %2
3.3
4 % 4

Question Number : 45 Question Id : 9126063317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Note : The question follows a definite pattern. observe the same and fill in the

blanks with suitable answers.

HORNE: 198 1H9)S" 2.8 PDISS JONATY) are3DT ) 0. €3
DOPATFY) B0 HOOHH  IIFPTOOS PO
0004,

5 16, ST, 158
(1) 289 (2) 324 (3) 384 (4) 481

Options :
1.%1
o %2
. %3
4 v 4

Question Id : 9126063318 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 48)
Duestion Label : Comprehension



Problem Solving — Data Analysis
2205 P65 — OT0F D3N
Note: An industry selected candidates during the years 2000-2005 in different
subjects as given i the following table. Study this table and answer the

questions 46 to 48.

ATSd: 28 DOFD 2000-2005 DodS 600" DD T wzijdey & 208
DOSS” BPHILT DodS BE0d. & DBS 0BIDoD) 46 — 48 DI VD

23579830000 @3550&,.

2000 2001 2002 2003 2004 2005
cience = - g . - 5
bga %‘“:@0
Engineering
< N 12 10 9 10 11 12
DooEHL TR0
Commerce i i l ; ] "
meﬁaﬁ TR0
Agricultur
griculture & ; 5 ’ -, ,
asaavum TR0
Arts
3 2 3 2 3 3
Se)
Total 40 38 40 42 38 44

Sub questions

Question Number : 46 Question Id : 9126063319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What percent of the candidates of Agriculture were selected in the given
period?

8 DD TOHS” SDIPOH TYoL DoBE SWED WGV FT*S0?

(1) 19.36 (2) 18.38 (3) 20.56 (4) 19.83

Options :
1. %1
2 %
= %3
4 v 4

Question Number : 47 Question Id : 9126063320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What percent of candidates in Engineering were selected in the year 20027

2002 205816500¢5° DodE ST @Z(EI0S° FoEAE TR L oS

Z(CO0 T°H0 dod?

(1) 21.5 (2) 21 (3) 225 (4) 22

Options :
1. %1
2 %z
5.¥3
4. % 4

Question Number : 48 Question Id : 9126063321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘What percent of candidates of Arts were selected on the period 2000- 20037

2000- 2003 sP0085° DodE GRS @RS SFOLD DoroBODD I8 TS0
oJoeh?

(1) 7.35 (2) 6.25 (3) 6.85 (4) 6.5



Options :
1. % 1
2.2
. %3
4 % 4

Question Id : 9126063322 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (49 to 53)
Question Label | Comprehension

Problem Solving — Data Analysis
R0y Fed — OT0F DN

Note: Observe the bar graph showing Indian sales tax rates during 2008 to 2018.

Answer questions numbered 49 to 53.

ArDH: Sod fmﬁ‘);ﬁ T ) So Doy 2008 Aoo) 2018 H65H &d) B ogrodo

e3gGorr 49 Aooc: 53 SO v DI 0D a5,edBN).

18
16
14
125 125 125 125 19.36 1236 1236
12
10
2008 2009 2010 2011 2012 2013 2014 2015 2016 2017 2018

Sub questions



Question Number : 49 Question Id : 9126063323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The percentage of increase in sales tax from 2016 to 2017 1s?

2016 &ooci 2017 S0 90 So DAY &S° )8 Fdo?

(1) 15 (2) 20 () 23 (4) 3

Options :
1. %1
2. V2
3% 3
4 % 4

Question Number : 50 Question Id : 9126063324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

By what percent the sales tax decreased from 2011 to 20127

2011 &o0é 2012 £ ) So DRy &° Seaeh ToB0 Doed?

(1) 1.12 (2) 1.2 (3) 1.25 (4) 1.5

Options :
1.91

I
3% 3
4 % 4
Question Number : 51 Question Id : 9126063325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The percentage mcrease i sales tax from the year 2008 to 2018 1s:

2008 &ooc 2018 £ ) So DV &’ )8 Fodo?

(1) 44 (2) 45 (3) 46 (4) 47



Options :
1.9 1

o %2
3. %3
4. % 4

Question Number : 52 Question Id : 9126063326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sales tax rates were stable and lowest during the period?

@méSo :Jmcl Eﬁ?domm. e0ed ez’eéobaﬁrwa‘nﬂ &.%‘l s*00”?

(1) 2008-2010 (2) 2009-2012

(3) 2012-2014 (4) 2017-2018

Options :

1. %1

2 %2

3.¥ 32

4. % 4

Question Number : 53 Question Id : 9126063327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

What percentage growth of sales tax during 2010-20187

2010-2018 206§ S°0085° @) So DIVY 2 T&o?

(1) 43 2) 44 (3) 45 (4) 50

Options :
1.%1
2.2
=% 3
4 % 4



Question Number : 54 Question Id : 9126063328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

et A.B.Cbesetsand S=AUBUC. ForanyTE€ S 1letT'=S—T and n(T)
denote the number of elements in T. If n(A) = 20. n(B) = 21. n(C) = 8§.
nAUuBUC) = 35. n(AnBncC')=6. nBncnAd) =2
n(CNANB')Y=4then, n(ANBNC)=

A B, Cen 200d), STAUBUC @D 90808. D83 TS S&T' =S-T
@d. T &° Horosee 203§ 1(T) drdiosnEod. n(A) = 20. n(B) = 21.

n(C) = 8 n(AUBUC) = 35, nAnBnch=6, aBnCNnA)=2,
n(CN AN B") = 4 wond ey nANBNC) =

(1) 4 (2) 3 (3)2 (4) 1

Options :
1. %1
2. %2
3% 3
4 ¥ 4

Question Number : 55 Question Id : 9126063329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



In a survey conducted on 50 students who wrote TSICET. 25 want to pursue
MBA. 30 want to pursue MCA and 8 want to pursue either MBA or MCA.

How many want to pursue both MBA and MCA?

TSICET 0703 50 008 Darjdow 0DFabdds6ns DOLrond 23LE” 25 2006
MBA. 30 2008 MCA $5830608 050088 trardd. § S008 & Dot
S0 065" B3I WaNT HBDOGL S GG BI*E. Do H0d DEjdoen

&1 Bocd 60y BSAD0EOIL RBVPS BPIE?

(1) 10 (2) 12 (3) 13 (4) 15

Options :
1. % 1
o ® o
3.3
4 % 4

Question Id : 9126063330 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (56 to 60)
Duestion Label : Comprehension



Problem Solving — Coding and Decoding Problems
2 Fed — FAON, BFBON DsDO5EN

Note: For the English alphabet A, B. ....... Z. a code 1s evolved by the following

rules:

(1)  Keep the Vowels A. E. I. O. U as they are without any change and
(11) For rest of consonants. each consonant is replaced by the immediate
next consonant. (Ex: B—C. D—F. ....... Z—B). The reverse process 1s

followed for decoding.
Using coding rules answer the questions 56 - 60.

ArSDd: Mol wEssrw A, Bl ... Z. % 28 §6& 2 & 208 dgore
BT oBotrdd.
(1) ewsNew A E.LO.U o by G FE0E WD PHoBTE.
(i) 2D . 0TS T § Aroey®. eo: B—C. D—F. ...
Z—B. & DeS° 20 DSAD orT cEGoh L TETred. & Ecof
GECof w0 eDATAD DFY e 56 - 60 VO PIFETYDE.

Sub questions

Question Number : 56 Question Id : 9126063331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the code word for “WATER’?

“WATER' € §& Do D&7

(1) WBVES (2) XBVES (3) XAVES (4) WAVES



Options :
1. %1
2. %2
3.¥ 32
4 % 4

Question Number : 57 Question Id : 9126063332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which word is coded as ‘NOCIME’?

‘NOCIME ™ 2 ;’::c:s“i}‘l E& SJa?

(1) MNBHLD (2) MOLIBE (3) MLBODE (4) MOBILE

Options :
1. %1
2. %2
3% 3
4. ¥ 4

Question Number : 58 Question Id : 9126063333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the code word for ‘KAKATIYA’?

‘KAKATIYA' & §& D60 98?

(1) LALAUIZA (2) GAGAQIVA

(3) LBLBRIZA (4) CBGBQJZA

Options :
1.9 1

o %2
3. % 3
4. % 4



Question Number : 59 Question Id : 9126063334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the code word for ‘MARKETING?

‘MARKETING & §& Do D&?

(1) NBSLFUJOH (2) NASLEVIPH

(3) NASKEUJOH (4) NBTLVIJPH

Options :
1. %1
=2 ¥z
3% 3
4 % 4

Question Number : 60 Question Id : 9126063335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the code word for ‘FINANCES™?

‘FINANCES £ §& D0 D&?

(1) GANDIPET (2) GJIOBODFT

(3) GIQAQDFT (4) GIOAODET

Options :
1. =1
2. % 2
3% 3
4 9 4

Question Number : 61 Question Id : 9126063336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If ‘SQUARE" 1s coded as “TRVBSF’ then the coded word for ‘RHOMBUS" 1s

‘SQUARE’ & ‘TRVBSF r» §& 2 ‘RHOMBUS’ £ £'& Do D&?

(1) SINPCVT (2) SIPNCVT (3) SNIPCVT (4) SPINCVT

Options :
1. %1
=2 ¥z
3% 3
4 % 4

Question Number : 62 Question Id : 9126063337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. If ‘BOMBAY ' 1s coded as ‘DOPDAB’ then ‘DELHI’ is coded as

‘BOMBAY" &5 ‘DOPDAB’ r» §& &3 ‘DELHI” © §& 0650?

(1) GENCI (2) GENKI (3) GENIJI (4) GENLI

Options :
1.%1
=2 ¥z
3% 3
4. % 4

Question Number : 63 Question Id : 9126063338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If ‘EKTSD’ 1s the code word for ‘FLUTE" then the code word for “VIOLIN 1s

‘FLUTE & £¢& 960 ‘EKTSD” ewond ‘VIOLIN® £ £& H&0?

(1) UNHKHM (2) UKHKHM  (3) UHKKHM (4) UHNKHM

Options :
1. %1
2 %2
3% 3
4 9 4

Question Number : 64 Question Id : 9126063339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If "SEMINAR’ 1s coded as "RANIMES’ then the code word for ‘MAYTAS’ 1s

‘SEMINAR’ & ‘RANIMES’ re §& 33 ‘MAYTAS' e £& Sohedd Heo?

(1) SATYAM (2) TASYAM (3) ASTYAM (4) ATSYAM

Options :
1.91

2 %2
3. % 3
4. % 4

Question Number : 65 Question Id : 9126063340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If ‘IDEA" 1s coded as “9451° then the code word for ‘IDEAL" 1s

‘IDEA’ &0 ‘9451 e §& &3 ‘IDEAL’ & §& 060?

(1) 945111 (2) 945112 (3) 945113 (4) 945114

Options :
1. %1
2.2
3 %3
4. % 4

Question Number : 66 Question Id : 9126063341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Date, Time & Arrangement Problems

RBOFY 6D — B0, DDA, @NOEE JaFEN

After the vear 1990 which year has the same calendar as that of 19907

1990 DoSSGo s, 1990 s°Socd erotd S*Sodd HHodk DodB~Go D&?

(1) 1995 (2) 1996 (3) 2001 (4) 2002

Options :
1. %1
= %z
3.¢3
4. % 4

Question Number : 67 Question Id : 9126063342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

A XD — B0, DHADO. HBES DN ZEN

At what time between 3 pm and 4 pm the hands of a clock are together?

Froogo 3 BAIN 4 ot OGS (OGS D BTy 208 e DNy

S0 HHotrow?

: .5 p— i Wt
(1) S.IGE (2) 3.1.-11 (3) 3.1811 (4) 3.1911

Options :
1.v1

o ® 2
3. % 3
4. % 4

Question Number : 68 Question Id : 9126063343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

RBOFY FGD — B0, DDA, @NOEE HaFEN

A clock gains time uniformly. It 1s found to be 2 munutes slow at 12.00 noon
on Monday and 1s found to be 4 min 48 sec fast at 2.00 pm on the following

Monday. When did the clock shows the correct time?

208 0360 DE 8D Hvodo DEN D BPH0H.06 AT 00 Doy o0
12.00 € 2 Dooaren B8y D Srdod) . H06008 F'dwoedo Jradogdo 2.00 L
4 Ddoare 48 D8 DE,D BIDY & (ECITE0 D YED PO WoD DAL

BLNB008 )

(1) 2.00 pm on Tuesday (2) 2.00 pm on Wednesday

S006% TG0 Jrasoeto 2.00 06 TrGo Jroogso 2.00

(3) 2.00 pm on Thursday (4) 2.00 pm on Friday

MO8 eGS0 Fradocto 2.00 $08 T°Go Fraogdo 2.00

Options :
1. %1
= 4
3. %3
4 % 4

Question Number : 69 Question Id : 9126063344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

RBFY XD — B0, DHADO. DB DN ZEN

A man said to a lady “your mother’s husband’s sister is my aunt™. How i1s the
lady related to the man?

208 R wE S oo ROT) € 0 1) B0, HG S, S0 T eved”.

933 520 D DR 02106507

(1) Daughter (2) Sister
£37°0 9 T5)
(3) Mother (4) Grand Daughter
39 S0R00T7e
Options :
1. %1
o V2
3. %3
4. % 4

Question Number : 70 Question Id : 9126063345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

RBOFY FGD — B0, DDA, @NOEE HaFEN

A bill payment office has 3 counters working at staggered timings between
8.00 am to 6.00 pm. The first counter 1s open between 8.00 am and 2.00 pm.
second from 10.00 am to 4.00 pm and the third from 12.00 noon to 6.00 pm.

During which of the following time slots are all the three counters open?

Deen BPotd g 3RS’ 3 ot edabo 8.00 Aod Jrodogo 6.00
SO DO DA DVOIrOS” DA BIT0L. DVEBE &0 8.00 Rvod
Sooegsryo 2.00 HO8>. Boctdd ecao 10.00 &doc Jradogo 4.00 S6Lr.
JrEss HopriETyo 12,00 Mod Jradogo 6.00 SO DI B . & Sod

DY’ ©) SN 3D DA D&?

(1) 10.00 am to 12.00 noon
e&cado 10.00 Soods ;ﬁoc;ﬂgb’lo 12.00 560

(2) 12.00 noon to 2.00 pm
SOTF(E 0 12.00 o0 S0 0 2.00 56

(3) 2.00 pm to 4.00 pm
S0y 0 2.00 Avoch rodogo 4.00 H6L

(4) 4.00 pm to 6.00 pm

Srabodo 4.00 Hood Jrabogto 6.00 S
Options :
1. %1
o V2
3 % 3
4 % 4

Question Number : 71 Question Id : 9126063346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

RBOFY FGSD — B0, DHANO. @HOEL D EN

Two people were arguing about the distance between two cities A and B. the
first one said that the distance is more than 100 km but less than 150 km. the
second one said that it 1s more than 140 km but less than 190 km. If both of
them are correct. which if the following options i1s the possible distance

between A and B.

FOA DI Tod AfTren A, B @ 06( drdo (1>800) maomsammlm.
s 6o 100 &. Q. €085 AL D 57D 150 &. . FotS By D @D 2B (S
) €. & g 140 8. . $otS ) D =D 190 &. Do . ol Ky D 9D
Boctd B(§ 0T . AGE BHyod DS |, & $od BS” D& A. B © 2oy

&o-do su;_‘m‘:’urb‘?

(1) 130 km (2) 135 km (3) 145 km (4) 155 km
130 &. &o. 135 &. &o. 145 &. &, 155 &. &,

Options :
1. %1
= %z
2. ¢ 3
4 % 4

Question Number : 72 Question Id : 9126063347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Problem Solving — Date, Time & Arrangement Problems

RBOFY FGD — B0, DDA, @NOEE HaFEN

Three men A. B. C and three women D. E. F sit around a circular table all
facing inwards.

(1) A 1s to the right of D who 1s opposite of E;

(11) C 1s to the left of F but not next of B:

(111) E and A are on either side of B.

Who 1s opposite of B?

A. B. C o3 2006 poiven 8asn D, E. F ed 2o éw g
DTG WY WRT WoBSET SD0Ber SFCEINT™) 6.

() E % dsotom &rem sy D 0 0ap05 A D7) .

(1) Fe & 22 C DT €. =0 B D)0 ST

(1) E. A en B £ tdper &) 6.

B £ Jdcodorre Q)é;l&- A Felebl

(1) C 2) D (&g B (4) F

Options :
1. %1
2. %2
3% 32
4 v 4

Question Number : 73 Question Id : 9126063348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Problem Solving — Date, Time & Arrangement Problems

A XD — B0, DHADO. HBES DN ZEN

If the symbols a,f,y and 6§ denote the arithmetic operations of addition.

subtraction. multiplication and division respectively. Then.

a,fB,y, 5 e S0 SrAS. 8D, Dmsdo. errifto 9D wos HEdahe

RATOR:

[(B6ad)y(Bad)]6[(9a3)B(5y2)]=

(1) 240 (2) 280 (3) 320 (4) 360

Options :
1.9 1

o %2
3. %3
4, % 4

Question Number : 74 Question Id : 9126063349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Problem Solving — Date, Time & Arrangement Problems

A XD — B0, DHADO. HBES DN ZEN

For nonzero real numbers x andy operations * and A are defined by

x 2yl

X *xy = and xAy= i._t If a*b=4A4. then the relation between

Xy
aand b 1s

2 2
ety 2x
xAy= o

%\1“55@6 TPRD RVoPLeV X, Y Dbsoew ¥, Aev x xy = o &
.565530‘;‘: 2G°ON. a * b=4A4eocndabeo 206 Dowogo.
(1) a=b (2) a=2b (3) 2a=D0 (4) 2a=3b

Options :
1.¢¥1
o %2
. %3
4 % 4

Question Number : 75 Question Id : 9126063350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Date, Time & Arrangement Problems

RBFY Fed — B, DDOADO, €900 DI FEN

; 1
Forrealmumbers x and y. letxoy =x+y —2xy. Ifx o x = = then x =7
TPRD VOV X,y VS X0y =X +Y — 2xy eodo8od. x0x = % oS3
XD X =7

3 1
(1) 2 (2) 1 3) 5 (4) -

Options :
1. %1



2% 2

3% 3

4 9 4
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 9126063351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3eh &m%a

Vax + by + Vez =K J(a+ b+ c)(x + y + x) @andpyed K=

(1) 1 (2) 0 3) -1 (4) vabc

Options :
1.91

o ® 2
3. %3
4. % 4

Question Number : 77 Question Id : 9126063352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sredes aomgaa

If a. b. ¢ and d are non-zero real numbers such that a*=b" = ¢*=d" and ab=cd.

I
thén = — ==
X Zz

a. b, c.d e 3336 TRD Doy, a’ =b' =c"=d" 2odosw ab=cd wand

1
x

1 1
(1) ;'1‘; (Y s S (4) 1
Options :
1. % 1
2 82

3. ¥ 3
4 % 4

Question Number : 78 Question Id : 9126063353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3eh aomgaa

Rs. 4600 1s divided among A. B and C such that the ratio of A’s to B's share 1s
2 : 1 while that of B's to C’s share 1s 6 : 5. Then how much did B got?
A Bo ortro Qiy8 2 |1 o B. € © oot QS 6:5 evcdiéorr 6. 4600

00 A. B, C 09 Dodd0d &od. i) B 08 2moeo?

(1) 1100 (2) 1200 (3) <1300 (4) 1400

Options :
1. %1



oo
3 % 3
4 % 4

Question Number : 79 Question Id : 9126063354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Sic3ed aomgaa

HFA:B=3:4B:C=15:16.thenA:B:C=

A:B=3:4B:C=15:16. monad A:B:C=
(L) 3:15:16 (2) 4:16:25 (3) 45:60:.04 (4) 10:15:23

Options :
1. %1
2 %2
3.¢3
4. % 4

Question Number : 80 Question Id : 9126063355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Sredes aomgaa

Ifx=7+4+3; y=7-4V3: th‘*‘f”xiﬁyiﬂ:

x=T7+4+3: y=7-4/3; wm:é‘:’.;a_*;:@s%*-i:

2 g2
(1) 148 (2) 172 (3) 194 (4) 208
Options :
1. %1
2. %2
2. ¢ 3

4. % 4



Question Number : 81 Question Id : 9126063356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3S &mg{p

x=3-V5 = x+4=

(1) 5x (2) 6x (3) 4x (4) 3x

Options :
1. %1
=2 ¥z
3% 3
4 % 4

Question Number : 82 Question Id : 9126063357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Eedeh &mg{p

If a>b and the decimal number 12a34b8322 1s divisible by 9 then the ordered

pair (a. b) =
a=b o0 &SF02 Qo 12a34b8322 o3& 9 & errfodecd gSoasori) o (a.b)=

(1) (2.9) (2) 9.2) (3) 4.7) (4) (3.8)

Options :
1. %1
2.2
=% 3
4. % 4

Question Number : 83 Question Id : 9126063358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sredes aomgaa

4n2+5n+10 . .
The number of natural numbers n such that ——————— 1s a prime number
I

4n®+5n+10
T 038 2.8 DT ﬁcmﬁwaﬁasé.um SEE RS IENS SR ERSEE SN
ﬂ o

(1) 1 (2) 2 (3) 3 (4) 4

Options :
1.9 1

o %2
3. % 3
4. % 4

Question Number : 84 Question Id : 9126063359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Eedeh &m%a

What 1s the largest number when subtracted from 4000 1s divisible by 7. 11 and

132

2 ﬁﬂrfﬁ "n:una::?sm 4000 Sooc ;ﬁﬁ;ﬁéﬂ&‘m Lol o OV :&ﬁl) K')D%J]S 7. 11 S0dasn
13 &8 erfodercosdn?

(1) 1999 (2) 2099 (3) 2999 (4) 3099

Options :
1. %1
2. %2
2.¢3
4 % 4

Question Number : 85 Question Id : 9126063360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes aomgaa

Traffic lights at three junctions A. B and C change every 25. 30 and 40 seconds
respectively. If all the lights change simultaneously at 9.00 am then the time

when all of them change together next 1s?

20, Erewy A, B. C 56 &rdS g SE0R 25, 30 208030 45 2R8I
Ao ow. &. 9.00 D2o0es” @) Ted 28I A0S . SEDE WY

2088 A0 HAvooe?

(1) 9.05 am (2) 9.06 am (3) 9.10 am (4) 9.12 am

& 9.05 &.9.06 & 9.10 e 912

Options :
1. %1
2. %2
3.¢3
4 % 4

Question Number : 86 Question Id : 9126063361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
e00Srieded aomgaa

240 ends with the last three digits?

2% 0538 DG & 27 WoTVS WoBIAT A0S

(1) 726 (2) 776 (3) 746 (4) 716

Options :
1. %1



2 2
3. %3
4. % 4

Question Number : 87 Question Id : 9126063362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Sic3ed &m%a

3 ; : 17 ) "
If - th of a number n 1s subtracted from = th of that number, we get 325. Then
n=

28 Dogdy N A, % 3 e;“nﬂﬁ‘l , 88 Ros| W) % Hod AHDorr 325
ToOT BN, WD 1 =

(1) 520 (2) 1040 (3) 2080 (4) 4160

Options :
1. %1
2. %2
3.¥ 32
4 % 4

Question Number : 88 Question Id : 9126063363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes aomgée

L | s
--J_l.-[a
92

5 2 2
Which is the smallest among —. 5
3 2 4 5

o e T Eats )
s 37 g 08 03006 DA

(i = 2)

=1 | =

(3) < (4)

Options :
1. %1
2. ¥z
3. %3
4 % 4

Question Number : 89 Question Id : 9126063364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3S aemgaa

The ascending order of V10. V6. V3. V9 and V8is

V10. V6. V3. V9. V8 e estiees g0

(1) V8. V10. V6. V9. V3 2) V8.¥3. V6. Vo. V10.
(3) ¥8.¥V3. V10, V6. V9 4) V3. V6. V9. V10. V8

Options :
1. %1
= %z
3.¢3
4. % 4



Question Number : 90 Question Id : 9126063365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3eh &m%a

If3 % % of 6 %% of x 15 9 then x=7

x cﬁwéb 6%% cﬁ.'us& 3%‘1'&: o8 Y escnad x="7

(1) 2000 (2) 4000 (3) 6000 (4) 8000

Options :
1.%1
2.2
=% 3
4 % 4

Question Number : 91 Question Id : 9126063366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability
o riedeh &m%a

When 85% of a number 1s added to 24. the result is the same number. What is

that number?

208 Doy Ao 35% R 24 £ SendT @d SEEMS HOdorr H00B. es Q080
&7

(1) 160 (2) 140 (3) 150 (4) 180

Options :
1.9 1

2% 2
3. %3



4. % 4

Question Number : 92 Question Id : 9126063367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Eedeh &mg{p

The cost price of 10 articles i1s equal to the sale price of 12 same articles. What

1s the out-come of this transaction?

10 SR0pe §0) 66 @S 12 sopo W20 BOL DIFDB. & B3NS D

H0edo?
2 : e
(1) 16;% loss (2) 165% gain
z 2
16 Eﬂf'ﬂ égﬂ 165']1] erZio
. 100 , . 100
(3) 7 % gain (4) 5 0% loss
100 100
i U0 ero 3 % :ﬁ;&o
Options :
1.v1
o ® o
3. %3
4. % 4

Question Number : 93 Question Id : 9126063368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes &»mg{}a

Shyvam marks his goods 25% above cost price of an article and allows a
discount of 12.5%. if he sells that article for Rs. 875. what 1s its cost price?

T BD HPD) DAYV SR B6D  25% 9@Zorr HEBS Do Sgﬂﬁcﬂ
12.5% &80 DI, S DB W8 DY dr. 875 D T o )
56 Doed?
(1) 850 (2) 825 (3) I800 (4) 3820

Options :

1. %1

2. %2

3. ¥ 3
4 % 4

Question Number : 94 Question Id : 9126063369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sredes aomgaa

P and Q enter into partnership with capitals in the ratio 5:6. At the end of 8
months P withdraws. If they receive profits in the ratio 5:9. how long Q’s

capital was used?

P. Q e 5:6 Devecow AaE ws e d Tardod’s HDHFDNs.  § Jvw
ST P DAJ’'aDR0. T ergrodd 5: 9 i@ DowoEos Q & oerd

Ao 5P D967

(1) 11 months (2) 9 months (3) 10 months (4) 12 months

11 Deen 0 Dwew 10 2oe0 12 Deoen

Options :
1. %1
2. %2
3% 3
4 v 4

Question Number : 95 Question Id : 9126063370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Arithmetical Ability

e00Eriedeh &»m%é

A and B started business by investing Rs. 10 lakhs and Rs. 15 lakhs
respectively. After 6 months C joined by investing Rs. 20 lakhs. At the end of

the year the ratio of their profits will be?

SERM 6. 10 vgen, 6. 15 vge devedod A B DS6> 208 ooy
F60DoDB. 6 DV BHOTS 6F. 20 vLL DS C B,

ROJBT0BAND T8 Lrerw Aiy8?

(1) L2223 2) 1:3:4 () 2:2:3 (4) 2:3:2
Options :
1. %1
2 %2
3 ® 3
4 v 4

Question Number : 96 Question Id : 9126063371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sreded &m%a

Two taps P and Q can separately fill a cistern in 12 minutes and 18 minutes
respectively. while a third tap R can empty it in 9 minutes. In what time (in
minutes) will the cistern be full, if all the three taps are opened together when

the cistern 1s empty?

Boc deren P. Q en DADATT g FBI i 12 Ddodren 2odoin 18
Aoared’ DodrwR) s 2oré S0 R & S 9 ddoares’ e
BODAVE. TG PV D) P DTV W8I0 B8R FY

Docatrshd D& Ddoa%e? (Do Ireres®)

(1) 24 (2) 42 (3) 36 (4) 30
Options :
1. % 1
o w2
3. v 3
4 % 4

Question Number : 97 Question Id : 9126063372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sredes aomgaa

A pipe can fill a tank m 15 hours. Due to a leak in the bottom. 1t 1s filled 1 20

hours. If the tank 1s full. how much time will the leak take to empty 1t?

08 SAI 28 DY 15 B0’ DodRwE. FG o 2D (o 2.8 EE)
S0 06 20 $0s” Dodds. T Do &)y H3L Jo @6 ad

SEAEAS DL Rduaie?

(1) 45 hours (2) 50 hours (3) 40 hours (4) 60 hours

45 Aot 50 Sotyex 40 Hoérend 60 Hotde

Options :
1.% 1
2. %2
3% 3
4 v 4

Question Number : 98 Question Id : 9126063373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Arithmetical Ability

e00Sredes &m%a

A car travels a distance of 170 km in 2 hours. partly at 100 kmph and partly 50

kmph. The part of the distance covered by the car with the speed 100 kmph 1s?

Sodermrd) Mo 100 &. . DrfoFTar . 20850 ) (oo 50 8. M.
Do Do wE o 170 8. . cﬁrmﬁi 2 (108365 QPBBDR. (501>

100 &. b Do DOITBoDDINE QD BHD Br60?

(1) 140 km (2) 120 km (3) 100 km (4) 80 km

140 &. &o. 120 &. &o. 100 &. . R0 &. .

Options :
1.v¥1

2 %2
3. %3
4. % 4

Question Number : 99 Question Id : 9126063374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes aomgéa

A man walks along the diagonal side of a square field at the rate of 10 kmph

for 30 minutes. What 1s the area of the square field? (in sq. km)

BSETSG0eS” W) 28 ESo DEdo ot (fotdsd 10 &. . Drsos 28 S8

30 Dared FEBRD. &8 BACISC Edo PTree? (©. . D. &)
(1) 25 (2) 12.5 (3) 20 (4) 15

Options :
1.%1
2.2
. %3
4 % 4

Question Number : 100 Question Id : 9126063375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00EHE aom%e

Shyam and Ravi together can do a work in 8 days. If Shyam alone can do it in

12 days. in how many days can Ravi alone do the work?

F[0 VB 6D RBET $DD 28 DA 8 Ferdd® PPBBODAEVD. T wE) & &
DA 12 Beres® rBBoADAS, 6D 28 & & DAJ D) e’ {8

Borercsy?
(1) 22 (2) 16 (3) 20 (4) 24

Options :
1. %1



2 %2
3. %3
4.v 4

Question Number : 101 Question Id : 9126063376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHEIeh &»mg{p

12 men or 15 women complete a work in 14 days. The number of days

required to complete the same work for 7 men and 5 women are?

12 2006 PHoen T 15 200d Hev 208 DI 14 Berd® yyrddoiocd. 7
MBD HEREL 2B 5 G e D2 98 HID RFH BALLLL SPHLID

Borer SEENY

3 3 E E ¥ i
(1) 12 2) 13 (3) 123 (4) 15

Options :
1.%1
2 %2
=% 3
4 v 4

Question Number : 102 Question Id : 9126063377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes &m%a

The ratio of the area of square to that of the square drawn on its diagonal 15?

208 BSBOGR Ei‘“ﬁ“ﬁﬁé 08030 & BSBLGR bégﬂbl F0220TT (0 08 S6D
DTS (o JayB?

(1)2:3 (2) 1:2 (3) 3:4 4) 4:5

Options :
1. %1
2. ¥z
5 %3
4. % 4

Question Number : 103 Question Id : 9126063378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3S &mg{g

The surface area (in sq. cm) of the cube each side of which 1s 11 cm 1s

28 @00 11 0. . (o DI &DBSL PFeNo (5. Do. . &)

(1) 726 (2) 744 (3) 864 (4) 384

Options :
1.9 1

o %2
3. %3
4. % 4

Question Number : 104 Question Id : 9126063379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sredes aomgaa

A metallic solid cvlinder of height 1 meter and base radius 0.75 meters 1s
melted and cast mto a solid sphere. The diameter of the sphere (in meters) so

formed 15?

1 Q& Do, 0.75 Doexg Braridrgo $90 a8 &' D P $6M0d)
28 STEY D Hvo Bairdd BT, & H¥ ToRo (erge’)

(1) 2 (2) 1.5 (3) 0.75 (4) 0.50

Options :
1. %1
2. ¥z
3% 32
4. % 4

Question Number : 105 Question Id : 9126063380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00Eedeh &m%a

The diameter of the sphere whose volume 15 179 % cubic meters?

1?9%@. D. 300 262Dy €D B TriR0?

(1) 6.5m (D>.) (2) 6m (.) (3) 7m (.) (4) 7.5 m(.)
Options :

1.%1
2 ® 2



3.¢3
4 % 4

Question Number : 106 Question Id : 9126063381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3d &m%a

If the length of a rectangle i1s decreased by 4 cm and the width is increased by 3
cm. a square with the same area as the original rectangle will result. Then the
perimeter of the rectangle 15?

28 &Y w0 JeHI0 4 Do. 2. SHoD) . DetenyBd 3 Vo. . 20DJDINE.
FDND BY BBOCROS DI PTO0 DD WAGRo DEyEDLONS . &5 &Y
WSO tﬁ.’)%.ﬂljgn eh?

(1) 40cm (2) 45cm (3) 50 cm (4) 52 cm

40 o. . 1550, Do 50 2o. 2. 50,20,

h

Options :
1. %1
2. %2
3¢ 3
4. % 4

Question Number : 107 Question Id : 9126063382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Arithmetical Ability

e00Sricdes &»mg{}a

A hall 1s of dimensions 13 m X 9 m. The cost of flooring this hall with tiles of

area 750 sq. cm each costing Rs. 20.

13 &. X 9 &. Soseorr (102 208 Dew PHod. & Fees® DA 28 dr. 20

Dens B 750 &. Do. . DTR(0 s%la‘) 0G0 DO DOWEFIS oy WY’

(1) 3100 (2) ¥3120 (3) 33080 (4)33112

Options :
1.% 1
2. ¥z
3% 32
4 % 4

Question Number : 108 Question Id : 9126063383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3eh &m%@

The cost of fencing around a circular field at Rs. 5 per meter 1s Rs. 220. What
15 the total cost of cultivating the field at Rs. 10 per square meter?

D> 208) 088 6. 5 SUPYD 28 TS0 TG0 WokaT KoBd DL WY

630, 220. 28 6D LD 6. 10 FLD & Hovs6 erd) S0 IS
9_903:5 a:d:[}‘?

(1) %1440 (2) 1540 (3) T1240 (4) 1560

Options :



%1
v 2
%3
® 4

S =

Question Number : 109 Question Id : 9126063384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00SHe3ed aomgaa

342{}) T 243{'{) ==

(1) 4150, (2) 5160, (3) 6150 (4) 5857

Options :
1. %1
2. %2
3¢ 3
4. % 4

Question Number : 110 Question Id : 9126063385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

e00&re3eh aemgaa

If 43 ]4{?} = 3656{}'} = X[m} then X =

4314{?} = 3656{?} — X,[m.} eoa X =

(1) 156 (2) 166 (3) 176 (4) 186

Options :
1. %1
2. ¥z
3% 3
4. % 4



Question Number : 111 Question Id : 9126063386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA oD, wsi)aéoﬁ: aﬂmgs@

The truth value of the conjunction 12 = 10 = 2 and 20 X 10 = 200 1s

12 + 10 = 2 &08cd0 20 X 10 = 200 03 R0\ ORI RS e

(1) True (2) Both True and False
20 Qa0 By
(3) Neither True nor False (4) False
Q2005 SUE0. Sy 5P Sy
Options :
1. %1
o %o
3 %3
4. ¢ 4

Question Number : 112 Question Id : 9126063387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability
DEOD. FASD FE S

The statement ‘All primes are odd’ can be proved to be False by

PEToSPO) Al 8 oD’ WD HIWBDo WDS(0 @d & BPO° AT

BJea?
(1) Direct proof (2) Indirect proof
DAL DErde DB DErHe
(3) Counter Example (4) Contradiction
DB DB rerrdo

Options :

1. %1

o %2

3. v 3

4 % 4

Question Number : 113 Question Id : 9126063388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA, avé:béam 3“&"-’35"3

If X=1{2,3,4,5, 6, 7}. the number of subsets of X containing 4 is?
X=1{2,3,4,5,6,7} 0003 4 2 €9 @od X Bwg), &Dd0S00 doady?

(1) 16 (2) 32 (3) o4 (4) 63

Options :
1.%1
o V2
3 % 3



4. % 4

Question Number : 114 Question Id : 9126063389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, w}sﬁ)aéoﬁn &m%@

If f(y) = I;—i for y # 0 and g 1s any non-zero real number. then the value of

If(q@) — f(=a)l =

y£0 3% f(y) = 2o g 9B 2386 59D Bows wond

1?

1£(q) — f(—q)| Dens?

(1)1 (2) 0 (3) 1 ) 2

Options :
1.%1
2. %2
3% 3
4 9 4

Question Number : 115 Question Id : 9126063390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD., w}g:bém &mgse:s

The range of the function f: R — R defined by f(x) = 2|x]| is

fiR - R& f(x) =2]x] m Do(Roddpcd [ oo

(1) [0,0) (2) (0, ) (3) (2, ) 4) [2,00)

Options :
1.v1

o %2
3. % 3
4. % 4

Question Number : 116 Question Id : 9126063391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. w}szbéma &m%e:s

Equation of the straight line having slope 2 and Y-intercept 5 1s

Jre 2 Sobodin Y-esochdodio S T e DEY0a HAE6m0

(1)x-2y=5 (2) 2y—x=35
(3)y—2x=5 4) 2x—-y=5
Options :
1. %1
2. ® 2

3.¢3



4. % 4

Question Number : 117 Question Id : 9126063392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DA 0D, wsi)aéoﬁ: &mgs@

The equation of the straight line passing through (2. -3) and having equal
intercepts 1s?

(2. -3) Do) Mot T’ DErHS 9FP DATD WoBd o&e oI
2HEY Bar P60,
()x—y—-1=0 (2) x—y+1=0

) x+y—1=0 (4) x+y+1=0

Options :
1.% 1
2. %2
3% 3
4 v 4

Question Number : 118 Question Id : 9126063393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. wsaaéom &mgs@

tan15° - tan 75° =

(1)1 (2) 2 (3) 3 (4) 4



Options :
1. %1
2. %2
3% 3
4. ¥ 4

Question Number : 119 Question Id : 9126063394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Yout) w}so")aéoﬁn avmgs@

sin 0° 4+ cos 30° — tan 45 + cosec 60° 4+ cot 90° =

3 X 3
7J3-6 ) 7V3—6 (3) 7\3+46 4 7346

243 B 6 (4) 243

(1)

Options :
1. %1
=2 ¥z
3 %3
4. % 4

Question Number : 120 Question Id : 9126063395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. ws&)aéoﬁ: évmgs@

1

If 8 1s an acute angle. and tan 8 = — then,

Sl

sec’@ + tan’@ B
cosec28 + cot?8

1
V7
sec?@ + tan’@ B
cosec26 + cot26

8 oo \SnsoHdr tand = AN DD

G . 4 3
(1) = (2) = (3) = 4) =

Options :
1. %1
2 %z
2. ¥ 3
4. % 4

Question Number : 121 Question Id : 9126063396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}s@aénﬁ: avmgse:s

The angle of elevation of the top of a pole from a point 100 m away from 1ts

foot is 60°. The height of the pole (in meters) 1s?

2,8 DoBo G od 100 . BErdoss® &) Doty &ood &5 Vo G
&g Emo 60° ea0S &5 Lozo o (Doerges*)

(1) 200 (2) 2003 (3) 300 (4) 10043
Options :
1. %1
2 82
3. %83
4 v 4

Question Number : 122 Question Id : 9126063397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. aav?g:be‘:aam &mgs@

5 | 3 2 i 4
atbhtc=6:a+b"+tc"=26 = ab+bc+ca="7?

(1) 5 (2) 6 (3) 7 4) 4

Options :
1.v¥1

o %2
3. % 3
4. % 4

Question Number : 123 Question Id : 9126063398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}gaae‘.am évmgse:s

(3a+2b +¢)(9a” + 4b” + ¢* — 6ab — 2bc — 3ca) =
(1)a’ + b’ +¢* — 18abe (2) 9a° + 8b”> + ¢* — 18abe

(3) 27a° —8b° — ¢ + 18abc (4) 27a° + 8b° + ¢ — 18abc

Options :
1. %1
2. %2
3% 32
4 v 4

Question Number : 124 Question Id : 9126063399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DEAD. w}gaae‘.am évmgse:s

If (x-13) 1s a factor of a polynomual p(x) then a factor of q(x) =p (3x+1) 15

LIZTPODA PX) £ (X-13) 208 ==draroSo woa q(X)= p(3x+1) £ 208 s°Crrrogo?

(1) x-1 (2) 1 (3) x+4 (4) x-4
Options :
1. %1
2 %2
3 %2
4.v 4

Question Number : 125 Question Id : 9126063400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD., w}g:bém &m%@

The value of a so that x*-2x°+3x-ax+5 is exactly divisible by (x-1) is

x 2%+ 3x%-ax+5 & (x-1) QF 0T 2rfotid S0 a Lensd?

(1) 7 (2) 10 (8 <11 (4) 11

Options :
1. ¥ 1

o %2
3. % 3
4. % 4

Question Number : 126 Question Id : 9126063401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. w}szbéma &m%e:s
5 3

4 6 _
Ifﬁ + — =5 and e 1. then (x,y) =

== y—4 x—3 g

(i 5 3

4 . el
e el il Rl bR

(1) 3.4 (2) (4.5) (3) (5.6) (4) (6.7)

Options :
1. %1
= %z
2. ¢¥3
4 % 4



Question Number : 127 Question Id : 9126063402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DEa0. w?gz)ae‘.’éo:‘u &)nmgs@

A 7zoo has some rabbits and peacocks. If the total number of them 1s 60 and

total number of their legs 1s 192, then the number of rabbits 1s?

208 20B0VBCRTOS” EJ) Dodeh, , DI, &T°) aw. T Awdo Doady

60. o7& s°¥y ddo Doad] 192. wod LS, Doy’

(1) 30 (2) 40 (3) 46 (4) 36

Options :
1. %1
2. %2
3% 3
4 v 4

Question Number : 128 Question Id : 9126063403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DEOD. wsaaéom &m%@

If the second and seventh terms of an arithmetic progression are 2 and 22
respectively. then the sum of the first 35 terms of that progression 1s?

208 WoSBAS D Tokd , DED DEPe HEHOM 2. 22 9a0S WPy & 368D

20068 35 DHore dodo?

(1) 1860 (2) 1920 (3) 2240 (4) 2310

Options :



1. % 1
o w2
3 ¥ 3
4 v 4

Question Number : 129 Question Id : 9126063404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. w&&aéaﬁ: &m%@

th . ; i . o
The 4™ term of a geometric progression is the square of its second term. If ifs

: il .
first term 1s -3. then its 7 term 1s?

208 0dces’ 4 S Do D Bokd DS Sdo. PR DG Do -3 wond
o5’ 7 B Dé&o?

Options :
1.% 1
2. %2
3% 3
4 v 4

Question Number : 130 Question Id : 9126063405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}gaae‘.am évmgse:s

9
3 . @ " " v " 1 i
The coefficient of x” in the binomial expansion of (23;:3 +o ) 18

2

(2x% + ) Bg0e DR6ewes® x7 Aorgo?

63 17
ik (2) 0 (3) 32 ) 7

Options :
1.v1

2 %2
3. %3
4. % 4

Question Number : 131 Question Id : 9126063406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE 0D, wsaaéaﬁ; &mgs@

(1+v2)' + (1-V2)' =
(1)36 (2) 34 (3) 38 (4) 40

Options :
1. %1
2. ¥z
3% 32
4. % 4

Question Number : 132 Question Id : 9126063407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}gaaém &mgse:s

Let |S| denote the determinant of any matrix S. If A i1s a 3x3 matrix. then
|Adj(Adj A%) | =

D B8 S 37 |S] 036 & JPEseYy DR wdfod. A 28 3x3
2rBS wond win @ |Adj(Adj A%) | =

(1) AJ? 2) lal* (3) 1AI° (4) lA]*

Options :
1.% 1
2. %2
3.¢3
4 % 4

Question Number : 133 Question Id : 9126063408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. w}gaaém 3"*‘”85‘-’-"

If A 1s a square matrix then. among the following. the matrix which 1s not
symimetric 1s?

A 28 BB06R H0rAE wand. $0d TS, Do 5 HrQs?

(1) A+AT (A=A (3) AAT 4) ATA

Options :
1. %1



2 2
3. %3
4. % 4

Question Number : 134 Question Id : 9126063409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. ws&)aéoﬁ: &m%@

. 12422 +e4n?
limy oo ——5— =

(1)

o=

Options :
1. %1
2.2
3% 3
4. % 4

Question Number : 135 Question Id : 9126063410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. w}g:bém &m%@

g

|
b |

: _r 2y =
x =cosB(1l+cosf), y=-sinf(1l+cosf) wonadd = 5 =l (dx)a%
1
1) 0 @ ; 3) 1 Sl
Options :
1. %1
o %2
3 v 3
4 % 4

Question Number : 136 Question Id : 9126063411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE0D. w}gaaém &m%e:s

In triangle ABC. length of the sides AB. BC. CA are respectively 5 cm. 6 cim.

7 cm. then the length (in cms) of the median AD 1s?

Szozmo ABC &° zozreny AB. BC. CA o SFadyen S8 5 Do. .. 6 do.
.. 7 0. . N 2GS G AD FED (Ro. . 0°)
(1) V7 2) 2v/7 (3) V5 (4) 2V5

Options :
1. %1
=i



3. %3
4. % 4

Question Number : 137 Question Id : 9126063412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

D00, w}sﬁ)aef}oﬁa &m%@

The diagonals of a rhombus are 6 cm and 8 cm. its perimeter (in cms) 157

28 VBB DT 6 V0. V.. 820, . @D WSS (Do. V. ve°)

(1) 48 (2) 36 (3) 32 (4) 20

Options :
1. %1
2. %2
3 %3
4 9 4

Question Number : 138 Question Id : 9126063413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD. wsaaéom avmgs@

In the figure PT 1s tangent to the circle and PT = 12 cm. if PA = 8 cm and

PB = x cms then x=?

08085° 5,58 PT %46y, PT=12 Do. .. PA=8 o. .. PB =x Jo. <.

OB WP X=

(1) 10 (2) 12 (3) 16 (4) 18

Options :
1. %1
2. %2
3% 3
4 v 4

Question Number : 139 Question Id : 9126063414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

DEAD., w}g:bém &mgse:s

. If two vertices of a triangle are (2. 3). (-1. 4) and its centroid 1s (3, 3). then the
area (in sq units) of the triangle 1s?

208 Sz Tocd Feen (2. 3). (-1. 4) 5o &2 Sogerdo (3. 5) Wod e

Bz PFOo (5. ordees®)

2 @ = 3) = @) =

Options :
1.% 1
2. %2
3.¢3
4 % 4

Question Number : 140 Question Id : 9126063415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DEAD., w}g:bém &m%@

The m-centre of the triangle formed by A(2. 3). B(-2. -5) and C(-4. 6) 1s

A(2,3). B(-2. -3). C(-4. 6) ©& D6 & Sz @036 Sogo
(1) {~1,-2) (2) (1,-2) (3) (=1;2) 4) (1.2)
Options :

1.%1
2. %2



3.¢3
4 % 4

Question Number : 141 Question Id : 9126063416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
&oaaﬁs?g Sﬂmgse:b

The arithmetic mean of 8. 12. 4. 16, 20. 18,22 14 1s

8. 12. 4. 16. 20. 18. 22. 14 © ®08 D060

(1) 145 (2) 13.25 (3) 13.73 (4) 14.25

Options :
1.%1
2 %2
3% 3
4 v 4

Question Number : 142 Question Id : 9126063417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
&oaaﬁs?g Sﬂmgse:b

The median of 68. 86. 54. 64. 46. 84. 72. 48 15

68. 86. 54. 64. 46. 84. 72. 48 & Dog{(ido

(1) 68 (2) 66 (3) 64 (4) 58

Options :
1. %1
=i
= %3
4. % 4



Question Number : 143 Question Id : 9126063418 Question Type : MCQ Option Shuffling : No Disllmnﬂr : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

avoaaﬁs?g .&:mgs@

If m;. m» and mj3 respectively denote the arithmetic mean. median and mode of

a distribution then

28 Draords M. 1, 11z ) G o G0 . WE[S0. eriTUFEe

0B VNN
(1) m; =ms = m; (2) my - m3=3(m; - my)

(3) my; —m, =3(my; — ;) (4) m;—m, =3(my — m;)

Options :
1. %1
=2 ¥z
3 %3
4 % 4

Question Number : 144 Question Id : 9126063419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability

bf'oaaﬁ?“@ &mgﬁ@

The variance of the following distribution is

S08 VTR DB

._.
"
"
45
'.n
=

-
[l
O

10

(1) 3 (2) 4 (3)

LA

(4) 6

Options :
1. % 1
o %2
. %3
4 ¥ 4

Question Number : 145 Question Id : 9126063420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&om}gs‘aﬂ@ &a‘»gﬁ@

The standard deviation of any seven consecutive positive integers is

DT D BED G YPTosTL PeAreds Ivwdo

(1) 2.5 (2) 2 (3) 3 (4) 3.5

Options :
1.%1
2.2
. %3
4 % 4



Question Number : 146 Question Id : 9126063421 Question Type : MCQ Option Shuffling : No Disamr : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&oaa5sw§ &mgse:a

An unbiased coin is tossed 6 times. The probability of getting at least one head
1s

208 a8 Ty 6 G AEDT . SN0 WEFVT 85°50), OE
"raoe;“;jé?:’s

1 5 36 63

(1) =, (2) 5 (3) s (4) ¥
Options :
1.%1
o ® o
3 %3
4 v 4

Question Number : 147 Question Id : 9126063422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
FoETR F20G S

@
An unbiased six faced dice and an unbiased coin are tossed simultaneously.
The probability for a composite number turning up on the die and a head on the
coin is?

208 ,?Ja":jés €330 SVATPL FPRSAT. 28 b&ﬂhés SR D¢ sewoes’

DDEDTE. €3 FPED 28 VoA R0y, TEIo 7)) DE VoIS

(13 @ 3 (3) < () =

Options :
1. %1
o w2



3 %3
4 v 4

Question Number : 148 Question Id : 9126063423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

5»0&:59?@ Svmgée:s

A number is chosen at random from the set{1,2,3,.....,50}. The probability

for the chosen number to be a prime or cube of an integer 1s?

2S {1,2,3, ..., 50} 2000 2 Do Q‘.‘iJ'“darZ)(DSOH" D0 BFTW. &3
D0E BOD VoY w8 DO VOV, SE° 28 VoS DD Ay

'&0&3"35@

13 ; 17 19 . 21
5 @ 3 3) = @) =

Options :
1. % 1
o %2
3. ¥ 3
4 % 4

Question Number : 149 Question Id : 9126063424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statistical Ability

&om55v§ avmgﬁa

A bag contains 4 white, 5 red and 7 black balls. Three balls are drawn one after

the other without replacement. The probability they are all red is?

28 200’ 4 B, 56D, 7 HD 0BORDT) Q. > e5 oot 28 o°d
SO SOEEAMR), HHD 209D AGLTEDADLOETAT, SOIPED 10D

ST, €3 ) L0BVUT B O] VoIS
1 1 1 1
(1) = (2) - (3) 7 4) &

Options :
1. % 1
o %2
3.3
4 % 4

Question Number : 150 Question Id : 9126063425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

bom}gé?@ &mg{’@

The size of the sample space in the experiment of tossing a coin 4 tunes 1s?

208 TP 4 FE ADOID DAIT(0S” TN DG DOIATE0.

(1) 12 (2) 14 (3) 20 (4) 16

Options :
1.%1
o %2
. %3
4 v 4



Display Number Panel: Yes Ivl}nﬁ EERINDIA

Group All Questions: No

Question Number : 151 Question Id : 9126063426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Restitution

(1) restoration
(2) health

(3) organization
(4) revenge

Options :
1.91

o %2
3. % 3
4. % 4

Question Number : 152 Question Id : 9126063427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Tacit

(1) diplomatic
(2) understood
(3) respond
(4) register

Options :
1. %1
=2 ¥z
3% 3
4 = 4



Question Number : 153 Question Id : 9126063428 Question Type : MCQ Option Shuffling : No Distﬂr : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Assuage

(1) soothe
(2) assert
(3) attack
(4) let down

Options :
1.9 1

o %2
3. %3
4. % 4

Question Number : 154 Question Id : 9126063429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Relinquish

(1) give up
(2) disarm
(3) relish
(4) mflict

Options :
1.v1
I
3% 3
4 % 4

Question Number : 155 Question Id : 9126063430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct meaning of the word given:

Defray

(1) give away
(2) leave out
(3) give back
(4) take back

Options :
1. %1
2. % 2
3.¥ 32
4 % 4

Question Number : 156 Question Id : 9126063431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Ubiquitous

(1) completely hidden
(2) shared equally

(3) peacetul

(4) present everywhere

Options :
1. %1
2. % 2
3% 3
4 9 4

Question Number : 157 Question Id : 9126063432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blank choosing the correct word:

It was a decision that brought him several new orders.

(1) fortuitous

(2) magnanimous
(3) outrageous
(4) perverse

Options :
1.91
2. % 2
3% 3
4 = 4
Question Number : 158 Question Id : 9126063433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

There 1s no of truth in the story put out by the news channel.

(1) confidence
(2) vestige
(3) difference
(4) opinion
Options :
1. %1
2 2
3. % 3
4. % 4

Question Number : 159 Question Id : 9126063434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blank choosing the correct word:

Villagers are often to the big cities with promises of quick money.

(1) forced
(2) admitted
(3) stolen
(4) lured
Options :
1.1
2 = Z
3% 3
4 ¥ 4
Question Number : 160 Question Id : 9126063435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

The student to work harder in order to score well in the
examination.

(1) resourced
(2) regretted
(3) failed
(4) resolved
Options :
1% 1
2 % 2
3 % 3
4.9 4

Question Number : 161 Question Id : 9126063436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

In binary addition 1 + 1 =

(1) 2
(2) 10
(3) 0l
4) 11

Options :
1. =1
2.2
3% 3
4 % 4

Question Number : 162 Question Id : 9126063437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A special computer program that pretends to do a certain thing, but in
reality it does something else such as allow a stranger to access the
computer and change it, and read its information 1s called:

(1) Virus
(2) Trojan Horse
(3) Surfing
(4) Spyware
Options :
1% 1
22
3 %3
4 % 4

Question Number : 163 Question Id : 9126063438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

The process of putting social media content on a webpage is known as

(1) embedding
(2) impressions
(3) engagement
(4) infuencer

Options :

1.91

2. % 2

3% 3

4. % 4

Question Number : 164 Question Id : 9126063439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The space between characters (letters, numbers, and punctuation) and the
process of adjusting that space to avoid unsightly gaps and improve the
legibility of text 1s referred to as

(1) Kemning
(2) Font
(3) Leading
(4) Tracking
Options :
1.v1
2 % 2
3 % 3
4. % 4

Question Number : 165 Question Id : 9126063440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

A collection of mput data 1s

(1) atile
(2) a program
(3) a source library
(4) an index
Options :
1.v1
2. % 2

3. % 3
4. % 4

Question Number : 166 Question Id : 9126063441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The exchange of data usually in graphic form that 1s needed to describe a
product is called

(1) Electronic Data Exchange
(2) Bar Code

(3) Product Data Exchange
(4) Electronic Forms

Options :
1. %1
2. % 2
3.¥ 32
4 = 4

Question Number : 167 Question Id : 9126063442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

An assembly of people meeting regularly to advise on, discuss, or
organise something 1s called

(1) council
(2) meeting
(3) gathering
(4) commuttee

Options :
1.91

o ® 2
3. %3
4. % 4

Question Number : 168 Question Id : 9126063443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A messenger who carries goods or documents 1s called

(1) postman
(2) attendant
(3) courier
(4) peon

Options :
1. %1
2. % 2
3.¢¥ 3
4 % 4

Question Number : 169 Question Id : 9126063444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

A balance sheet 1s a document showing

(1) Profit or loss for a period of the company

(2) Assets and liabilities of the company

(3) Flow of cash and balance of cash position

(4) Balance of raw materials and finished goods inventory

Options :
1.% 1
2 ¥z
3% 3
4. % 4

Question Number : 170 Question Id : 9126063445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Sale of goods to the public in small quantities 1s called

(1) wholesale
(2) marketable
(3) accessory
(4) retail

o

ER

3 ¥ 3
4 v 4



Question Number : 171 Question Id : 9126063446 Question Type : MCQ Option Shuffling : No Disllmnﬂr : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
A: “You really should be firm with him or there will be trouble later.”
B: “I’'m afraid to do so!”

‘A7 1implies that ‘B 1s

(1) tactless
(2) firm

(3) weak

(4) courageous

Options :
1. %1
2. %2
3.¥ 32
4 % 4

Question Number : 172 Question Id : 9126063447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A: “How much of your time do you spend at work?”
B: “I leave for work at 8 pm and get off work at 6 am”

‘B’ implies that

(1) he works from 6 a.m. to 8 p.m.
(2) he works from 8 p.m. to 6 am.
(3) he works throughout the day time

(4) he leaves home for work at 6 a.m.
Options :
1. %1
=2 ¥z



3. %3
4. % 4

Question Number : 173 Question Id : 9126063448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A: “When should I come round to your place?’
B: ‘This time I will come round to your place.’

‘B’ implies that ‘A”

(1) 1s busy
(2) never mvites him to his place
(3) 1s different

(4) 1s unwelcome
Options :
1. =1
2. v 2
3% 3
4 = 4

Question Number : 174 Question Id : 9126063449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

A: “How did Mohan fare in his job?”
B: “Well, he managed to hang on to his job.”

In this conversation ‘B’ states that Mohan

(1) 1s struggling to keep his job
(2) kept his job
(3) 1s doing extremely well
(4) 1s likely to get fired
Options :
1. %1
2. v 2
=% 3
4. % 4

Question Number : 175 Question Id : 9126063450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

I wouldn’t like to go through that again.

The underlined phrase means

(1) experience
(2) travel

(3) subject
(4) attack

Options :
1.9 1

2% 2
3. % 3



4. % 4

Question Number : 176 Question Id : 9126063451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Change the following into passive voice:

Enter 1t in the register.

(1) Use the register.

(2) It should be entered in the register.
(3) Let 1t be entered 1n the register.
(4) The register 1s required to enter 1t.

Options :
1. %1
L S
3.¥ 32
4 % 4

Question Number : 177 Question Id : 9126063452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Choose the correct answer:

A: “Ineed not do 1t.”
B: “Of course you have to do 1t! It’s your project after all.”

‘B’ implies that “A’

(1) has no option
(2) 1s lazy

(3) 1s unintelligent
(4) 1s mcompetent

Options :
1.91

o %2
2. %3
4. % 4

Question Number : 178 Question Id : 9126063453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

Banks help people wanting to business.

(1) set out
(2) setup
(3) set aside
(4) put in

Options :
1. %1
2.2
3% 3
4. % 4
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Question Number : 179 Question Id : 9126063454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

If you don’t he will take your job from you.

(1) look forward
(2) look after
(3) look back
(4) look out

Options :
1. =1
2. % 2
3% 3
4 9 4

Question Number : 180 Question Id : 9126063455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

There are many social organisations that are in the upliftment of
the poor and needy.

(1) raised

(2) reserved
(3) involved
(4) retained

Options :
1. %1
2. % 2
3.¥ 3
4 = 4

Question Number : 181 Question Id : 9126063456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blanks with the appropriate phrase / verb / preposition:

By picking a quarrel with the organisers they all chances of

going back to that event.

(1) eliminated
(2) exterminated
(3) exploited
(4) elaborated

Options :
1.¥1

o %2
3. % 3
4. % 4

Question Number : 182 Question Id : 9126063457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

[ am too to go shopping again as my feet are aching.

(1) relieved
(2) satisfied
(3) bored

(4) exhausted

Options :
1. %1
2. = 2
3% 3
4 9 4

Question Number : 183 Question Id : 9126063458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Fill in the blanks with the appropriate phrase / verb / preposition:

If you want to work in the sales division you need to have a flair

selling.

(1) in
(2) of
(3) to
(4) for

Options :

1. %1

2. = 2

3% 3

4 9 4

Question Number : 184 Question Id : 9126063459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

I must protest this course of action.

(1) after
(2) at
(3) across
(4) 1nto

Options :
1. %1
2. 2
3%z
4 % 4

Question Number : 185 Question Id : 9126063460 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



-
Fill in the blanks with the appropriate phrase / verb / preposition:

I am quite aware his merits.

(1) of
(2) for
(3) upon
(4) by

Options :
1.91
2. % 2
3% 3
4 % 4

Question Id : 9126063461 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (186 to 190)
Duestion Label : Comprehension



Read the following passage and answer questions 36-40:

Everyone except the accurate thinker has an overabundance of opinions,
and usually these are without great value. Many of them can also be dangerous
and destructive when used in conjunction with personal mitiative because if they
are based upon prejudice, intolerance, ignorance or hearsay evidence, they may
do a great deal of harm. No opinion can be considered safe unless it 1s based
upon known facts. and no one should express an opinion on any subject without
assurance that it 1s founded on facts, or sound hypothesis of facts. Free advice
volunteered by friends and acquaintances usually 1s not worthy of consideration.
The accurate thinker, therefore, never acts upon such advice without giving it
the closest scrutiny. Accurate thinkers permit no one to do their thinking for
them. They obtain facts. information and counsel from others, but they retain
the privilege of accepting or rejecting such advice in whole, or in part. Accurate
thinkers do not form opinions based upon newspaper reports, for they cannot be
sure that such information 1s always the result of accurate thinking.

Sub questions

Question Number : 186 Question Id : 9126063462 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When can opinions become dangerous?

(1) when they are 1ll-founded
(2) when they are discussed
(3) when they are uttered

(4) when they become popular

Options :
1.91

o %2
3. % 3
4. % 4

Question Number : 187 Question Id : 9126063463 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Who 1s an ‘accurate thinker’?

(1) One who 1s practical

(2) One who 1s alert

(3) One who bases his opinions on facts
(4) One who 1s mtelligent

Options :
1. %1
2 = 2
3.¥ 32
4 % 4

Question Number : 188 Question Id : 9126063464 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How should ‘free advice’ be treated?

(1) seriously
(2) importantly
(3) carefully
(4) hightly

Options :
1. %1
2. % 2
3% 3
4 9 4

Question Number : 189 Question Id : 9126063465 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What does ‘closest scrutiny” mean?

(1) to read properly

(2) to examine thoroughly
(3) to write well

(4) to look well

Options :
1. %1
=2 ¥z
3% 3
4 = 4

Question Number : 190 Question Id : 9126063466 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

How do ‘accurate thinkers’ become accurate?

(1) They depend on newspapers.

(2) They sift through the information received by them.
(3) They accept the thinking of others.

(4) They depend on their friends.

Options :
1. %1
=2 ¥z
3. % 3
4 = 4

Question Id : 9126063467 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (191 to 195)
Duestion Label : Comprehension



Read the following passage and answer questions 41-45:

For centuries sky watchers have reported seeing mysterious flashes of
light on the surface of the Moon. Modern astronomers have observed the same
phenomenon. but no one has been able to satisfactorily explain how or why the
Moon sporadically sparks. However, researchers now believe they have found
the cause. Researchers have examined the chemical content of Moon rocks
retrieved by astronauts during the Apollo missions and have found that they
contain volatile gases such as helium, hydrogen and argon. The researchers
suggest that stray electrons. freed when the rock cracks, may ignite these gases.
Indeed lunar rock samples when fractured in the lab, throw off sparks. What
causes these rocks to crack on the lunar surface? The flashes are most often

seen at the borders between sunlight and shade on the Moon, where the surtface
1s being either intensely heated or cooled. A sudden change in temperature may
cause thermal cracking. Another possibility is that meteors may strike the rocks
and cause them to crack. Finally, lunar rocks may be fractured by seismic
events — in other words, by tiny moonquakes.

Sub questions

Question Number : 191 Question Id : 9126063468 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For how long have people been aware of the mysterious lights on the
Moon?

(1) for the last ten years

(2) since the Apollo Moon missions
(3) for hundreds of years

(4) for thousands of years

Options :
1. % 1
o %2
2. ¥ 3
4 ® 4

Question Number : 192 Question Id : 9126063469 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What does the word ‘sporadically” mean?

(1) reputedly
(2) occasionally
(3) mysteriously
(4) constantly

Options :
1. %1
2 ¥z
5 %3
4. % 4

Question Number : 193 Question Id : 9126063470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following supports the theory that Moon rocks give off
sparks when they crack?

(1) a telescopic study of the Moon

(2) experiments conducted by astronauts
(3) observations by ancient sky-watchers
(4) an analysis of rocks from the Moon

Options :
1. %1
2 %
= %3
4 9 4

Question Number : 194 Question Id : 9126063471 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What causes thermal cracking?

(1) earth quakes

(2) sudden change 1in temperature
(3) argon gas

(4) pressure of tree roots

Options :
1. =1
2.2
3% 3
4 % 4

Question Number : 195 Question Id : 9126063472 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What does the word ‘volatile’ refer to?

(1) gentle
(2) explosive
(3) soft

(4) Light

Options :
1. %1
2 ¥z
3% 3
4 % 4

Question Id : 9126063473 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)
Duestion Label : Comprehension



Read the following passage and answer questions 46-50:

I had started on life of ease and comfort. but the experiment was short-
lived. Although I had fumnished the house with care. yet it failed to have any
hold on me. So no sooner had I launched forth on that life, than I began to cut
down expenses. The washer man’s bill was heavy, and as he was, besides, by
no means noted for his punctuality, even two or three dozen shirts and collars
proved insufficient for me. Collars had to be changed daily and shirts, if not
daily, at least every alternate day. This meant a double expense. which appeared
to me unnecessary. So I equipped myself with a washing outfit to save 1t. 1
bought a book on washing, studied the art and taught 1t also to my wife. This no
doubt added to my work, but its novelty made it a pleasure. I shall never forget
the first collar that I washed myself. I had used more starch than necessary, the
iron had not been made hot enough, and for fear of burning the collar, I had not
pressed it sufficiently. The result was that, though the collar was fairly stiff. the
superfluous starch continually dropped off it. I went to court with the collar on,
thus inviting the ridicule of brother barristers, but even in those days I could be
impervious to ridicule.

Sub questions

Question Number : 196 Question Id : 9126063474 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What evidence do we have of the thrifty nature of the writer?

(1) He wore the same shirt for two days.

(2) He asked his wife to 1ron his clothes.

(3) He gave the washer man only a few clothes.
(4) He decided to reduce his expenses.

Options :
1.%1
R =
3% 3



4.9 4

Question Number : 197 Question Id : 9126063475 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What made the task of the writer appear less tedious?

(1) It was a new experience.

(2) His wite also helped him.

(3) He employed a person to assist him.
(4) He decided not to do 1t every day.

Options :
1.91

o %2
3. %3
4. % 4

Question Number : 198 Question Id : 9126063476 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following was NOT one of the mistakes made by the
writer 1n the process?

(1) He put too much starch.

(2) He bumt the collar of the shirt.
(3) He did not heat the iron enough.
(4) He did not wash off the starch.

Options :
1. %1
2. 2
3% 3
4 % 4

Question Number : 199 Question Id : 9126063477 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



What was the profession of the writer?

(1) He was a journalist.
(2) He was a washer man.
(3) He was a contractor.
(4) He was a lawyer.

Options :
1. %1
2. %2
3% 3
4 v 4

Question Number : 200 Question Id : 9126063478 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What was the writer’s reaction to the mockery of his colleagues?

(1) He became angry and shouted at them.
(2) He criticised them 1n return.

(3) He did not respond to them.

(4) He laughed at their foolishness.

Options :
1.%1
2. %2
3.¢3
4. % 4
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